| Astmpiksn (—mam

FER F—E (BRER)

iy Py =
25 - BEAR TEEN SREK(A) apsm(p) |BEEBUEE) g Zo‘ﬁf if‘fg
IR
EERER 140 1,484 1,406 493 29| 2.9f%| 300 |166.0 | 165.0
XOERZERCGEEI-)] [ 201 [ 186 [ 61 3.0f%| 3.5f% 300 |[171.0|174.0
AF R BUARE SR 90 492 472 183 2.6 % 2.7f%| 300 |157.0 |158.0
=1 0 HEZER 40 340 324 119 2.7 % 2.6f%| 300 |155.3 |150.0
I RERER 40 445 420 107 3.9f%| 2.6f% 300 |156.0 |154.0
NEBERER 60 301 291 105 2.81%| 2.7f% 300 |157.0 |158.0
INET 370 3,062 2,913 1,007 — —
REER 35 509 394 116 3.41%| 2.44% 400 |230.0|219.0
X¥OERERCGEEI-R)] [ 62 [ 49 [ 16 3.5 3.8f%| 400 |235.0 | 240.0
AR BURIESER 30 291 243 117 2.1 f% 2.4 T% 400 |210.0 |214.0
= 2 0 R 10 131 106 47 2.3f%| 2.0f%| 400 |203.5|209.0
RERER 10 165 137 56 2.4 2145 400 |211.0|209.0
NEBERER 10 179 156 74 2.1 1% 2.21%| 400 |206.0 |209.0
INEE 95 1,275 1,036 410 — —
REER 65 1,368 1,305 459 2.81%| 293 300 |164.0 |166.0
¥EREERCGEEI-R)] ([ 178 [ 171 [ 50 3.4f% 3.7f%| 300 |167.0 |176.0
N 7 = BURREZER 30 622 587 236 2.5 2.94% 300 |160.2 |161.0
=1 5 HEER 15 311 295 124 2.4f% 3.0f%| 300 |157.0 |158.0
T RERER 15 561 529 187 2.81%| 2.94%| 300 |158.0|161.0
E NHEBERZER 25 381 361 133 2.7f%| 2.9f% 300 |159.0 |161.0
7 INEE 150 3,243 3,077 1,139 — —
$ REER 10 308 235 35 6.7 f%| 2.0f% 300 |177.0|151.0
EB XOERZERICGEEI-X)] [ 34 [ 28 [ 6 4.7%| 4.2f#%| 300 |181.0 |176.0
N 7 = BURREZER 10 180 141 53 2.7f%| 2.14%| 300 |156.4|151.0
= 2 HEZER 10 111 91 32 2.81%| 2.0f%| 300 |156.1|151.0
RERER 10 127 103 23 454%| 2.3f%| 300 |170.0 |151.0
NHEBERER 10 122 92 25 3.7f% 2.14% 300 |160.0 |151.0
INEE 50 848 662 168 — —
R 30 982 081 360 27/ 30% 500
KOERZERICGEEI-X)] [ 150 [ 149 [ 49 3.0%| 2.7%| 500
cHR BURREZR 20 175 173 86 2.0f%| 2.9% 500 )
3R HEZER 20 308 308 107 29f%| 2.8f% 500 NEEY
REERER 20 104 102 25 4.1 1% 3.21%| 500
NEBERER 20 137 137 49 2.8%| 2.9f%| 500
INEE 110 1,706 1,701 627 — —
EEER 5 191 191 121 1.6 192 600
XxEREERCGEEI-2)] ([ 51 [ 51 [ 29 1.8 1.645 600
cH= Eﬁ(zﬁ%z§$$4 5 28 28 17 1.6 fT:l: 2.0f%| 600 N )
4R *ﬁfﬁﬁ—?—ﬂ 5 22 22 12 1.8%%| 7.51% 600 NRET
REERER 5 17 17 9 19| 2.71% 600
NEBERZER 5 13 13 4 3.31%| 3.44% 600
INEE 25 271 271 163 — —
A1+A2+N1+N2+C3+C4 &t 800| 10,405 9,660 3,514 = =
HER 22 259 243 120 2.04%| 2.5f%| 300 |168.9 |180.3
EER 59 593 571 250 2.3f%| 2.11%| 350 |208.2 |206.0
[E3pre=abat 45 491 464 241 1.9f% 2.0f% 300 |168.9 |167.6
REZBEPEEER 20 175 168 54 3.5 1.8f%| 300 |165.9 |156.3
HIER 43 427 406 213 1.9 1.8f%| 300 |167.2 |174.6
R YR 23 136 133 89 1.5 1.9€% 300 |147.1|161.9
"R 92 1,134 1,098 406 2.71%| 2.14% 300 |182.6 |173.4
HEEUER 20 210 204 90 2.31%F| 2.24% 300 |162.1 (1721
AR HBEER 52 511 495 221 2.2f%| 2.114% 300 |168.9 |167.2
= 1 8 HEZR 65 401 396 155 2.6f%| 2.3f% 300 |166.1 |156.6
DIEZER 50 766 727 190 3.8%%| 3.2f% 300 |189.0|188.0
HIBZE 30 232 221 110 2.0f%| 2.0f% 300 |160.5|165.3
HERRI R 30 264 253 91 2.81%| 2.0f% 400 |224.0|209.8
e SN 25 258 247 112 2.21%| 2.8f% 400 |262.3|265.2
BRBER 33 367 348 100 3.5/%| 3.6f% 350 |231.6|230.3
b=y S 25 171 161 116 1.46% 1.9f% 500 |255.0|287.2
EmRlER 30 243 235 117 2.0f%| 2.0#% 300 |144.2|155.3
SC a=z=" 30 212 197 121 1.6 1.9 400 [211.4|219.4
pL::] et 694 6,850 6,567 2,796 = =
—'“Tj F2R 3 58 46 8 5.8f%| 6.6f% 300 [199.2 193.3
R 2 S 3 68 52 8 6.51% 10.6 4% 300 |188.2|204.8
[E3pre=abat 5 59 50 13 3.8f%| 7.0f%| 300 |175.4]196.9
REBERETER 2 2 18 6 3045 8415 300 |166.6|192.8
HIER 5 57 45 12 3.8f%| 8.3f%| 300 |162.2 |190.1
Ry xxzR 3 32 26 11 241 7.0f% 300 |161.0 |190.1
"R 3 92 64 6 10.7 f%] 20.8 | 300 [178.8 | 206.9
HEEUER 2 30 21 8 2.6f%| 10.21%| 300 |154.3 |190.6
A HBEER 3 64 52 11 4.7 1% 8.0f%F| 300 |180.4 [199.3
= 2 1 HwEZR 2 52 44 4 11.04%] 10.3f%| 300 [176.6 |179.5
DEER 2 89 77 4 19.3 %] 20.3fZ| 300 |201.6 | 206.3
HIBZE R 3 33 26 4 6.51%| 7.8f% 300 |162.2 |201.4
HERRI R 5 42 37 9 47115 6.11%| 300 |184.6 |179.3
R 5 69 58 11 5.3f%| 5.14% 300 |207.7 |202.6
BRRER 6 93 74 11 6.7 1| 5.7f% 300 |202.8 |196.1
bypied=ay S 6 45 33 12 2.81%| 4.6f% 300 |183.4|172.0
EmBlER 5 50 43 9 48%%| 8.0f% 300 |184.6|165.0
a=z=" 3 33 26 6 431 4.44#% 300 |204.2|181.2
N 66 988 792 153 — —
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T O =
25 - BEAR TEER SREM(A) aiEE%R(B) ’;’ﬁﬁ | ma 2(;'212:" E;ﬁpi
I
HER 3 175 168 72 2.3f%| 4.8€% 300 | 161.6|171.6
PR 3 307 291 69 424%| 5.6f% 300 |170.4|177.0
[E3pre=abat 3 184 175 67 2.61%| 6.0f% 300 | 160.7|176.2
FEEREX{LER 2 99 88 18 49f% 4.5f% 300 | 166.3| 165.2
TR 5 252 234 120 2.01%| 3.4f% 400 | 212.6| 230.0
R YxxzR 2 89 85 51 1.7 4.14%| 300 | 152.7| 165.2
HEER 3 459 425 96 4445 8.2f% 300 |171.2|178.6
HEEUER 2 136 126 51 2.5/%| 5.14%| 300 | 158.7| 165.1
N5 3 ?ﬁﬁfﬂ 3 248 229 81 2.8133I 6.7 f%| 300 | 160.9| 175.0
%1 1 P;'Sﬁ—?—ﬂ 3 145 138 33 4215 6.0f% 300 | 156.2| 166.3
DEER 3 353 333 50 6.7 f%| 9.3f%| 300 | 177.0|179.9
HIBZER 2 120 111 30 3.71% 3.8f% 300 | 164.1| 167.1
HBRRIE R 2 102 92 30 3.11% 4.8f% 300 | 161.7| 170.4
#HER 2 154 148 30 49 % 7.6f% 400 | 222.0| 230.2
BERBER 3 215 204 48 4315 6.5f% 300 | 166.6| 170.9
bypdeay S 3 119 111 51 2.2f%| 3.7f%| 300 | 148.3| 163.2
EmRER 2 133 118 43 2.71% 3.7f#% 300 | 159.2| 165.2
a=" 3 121 113 42 2.71%| 3.5f%| 300 | 160.5| 165.5
INEE 49 3,411 3,189 982 — —
F2R 2 24 20 4 5.0f%| 10.3#%| 300 | 162.0| 182.3
sEER 2 54 45 7 6.4 1% 7.8€%F 300 | 170.3| 183.1
E 3 ER 3 35 29 7 4.1 % 10.3f%| 300 | 161.0| 172.9
FEEREEER 2 18 15 4 3.8f% 5.0f%| 300 | 161.5| 165.9
HIER 2 32 25 8 3.1 1% 4.1€% 400 | 225.5| 234.3
R Y32 R) 2 21 20 4 5.0f% 4.8f% 300 | 161.0] 167.2
HEER 2 51 44 5 8.8 1% 16.0fF| 300 | 176.2| 191.7
HeEUER 2 13 10 2 5.0f%| 6.0f% 300 | 156.1| 171.7
N % = HBEER 3 32 26 4 6.5f% 9.8€%| 300 | 169.8| 171.6
=0 f?ﬁ?ﬂ 2 31 28 4 7.0f% 7.0f% 300 | 161.6| 166.4
DIEZER 2 61 52 6 8.7 % 14.5f%| 300 | 176.0| 189.8
I HIEF R 2 17 16 2 8.0f% 7.0f% 300 | 174.4| 175.7
B Eﬁﬂ?ﬂ 1 15 12 5 2.4;5 'I'I.O{{E 300 | 140.6| 173.3
vy BER 2 32 21 6 3.5f%F| 6.8f%| 400 | 172.3| 247.8
;7' BFERB R 2 47 36 7 5.1f% 8.5f% 300 | 140.2| 178.0
HB YIEER 2 21 14 4 3.5f%| 6.7f% 300 | 136.2| 166.0
LRl 2 33 25 12 2.14%| 10.0#%| 300 | 140.2| 164.3
A= 2 23 18 4 4.5f% 5.3f%| 300 | 148.7| 164.3
INEE 37 560 456 95 — —
"HER 9 148 147 72 2.0f% 3.4£3| 500
SEER 6 273 273 104 2.6f%| 3.9f%| 500
E 2R 7 255 253 112 2.31% 3.443| 500
MEERELER 2| 113 13 35 3242 311 500
EXEFR 10 123 123 58 2.1 1% 3.6f%| 500
KAy ER 5 81 81 44 1.8%| 2.9f%| 500
R 13 312 311 127 2.4 % 3.3f%F 500
Ham R 4 44 44 17 265 32| 600
cH= BHBEER 13 270 270 96 2.81%| 2.71% 600 )
=1 0 P;ﬁ%?ﬂ 5 209 209 60 3.5 f% 4.8 % 600 NEEY
DIEZER 8 347 346 106 3.3f%| 5.11%| 600
MR 5 103 102 43 2.4 /% 3.11%% 300
HERRIZ R 2 121 118 43 2.71&% 3.7f3| 800
R 6 208 208 69 3.0f%| 4.5f%| 300
BRI R 8 217 213 78 2.7 5.4% 500
kypid=ak S 8 151 151 66 2.31%| 2.3f%| 400
EmRlER 5 196 196 98 2.0f%| 3.0f% 300
25 70 239 238 91 265 235 400
INEE 123 3,410 3,396 1,319 — —
HER 2 25 25 8 31/ 237 600
REZERELEN 2 6 5 3 1745 2315 500
cH= HIER 3 20 20 10 2.0f%| 1.8f%| 500 )
55 | e 2 24 24 6 40 238 300 | AxCT
Bl 2 20 20 9 2.21%| 2.0f%| 200
LRl 2 24 24 6 4.0 2.0f% 300
INEE 13 119 118 42 — —
AT+A2+N1+N2+C1+C2 5t 982 15,338 14,518 5,387 = =
BEER 175 3,860 3,679 1,448 2.5f%| 2.5/ 300 |159.01|160.0
A% MEEFEEREERI-2)] |[ 240 1 229 11 85 1l 2.7 1.9 f%‘ 300
=1 1 &:%ﬁ%"?ﬂ 60 838 805 336 2.4 3.0/% 300 |157.70|160.1
ﬁ T ERAEREER 35 269 259 111 2.31%| 2.5#% 300 |154.00|156.3
ﬁ INET 270 4,967 4,743 1,895 — —
$ BEER 50 1,007 837 332 2.5 2.6#% 300 |158.01|159.3
Eﬂ A KR XEEFEEREERI-2)] |[ 82 1L 59 1L 23 1| 2.6f% 2445 300
= 2 1 E%ﬁ%ﬁ?ﬂ . 30 369 318 126 2.5f%| 2.8f#% 300 |159.15|160.1
ERNEREFER 15 127 105 40 2.61%| 2.24% 300 |158.48 |154.3
INET 95 1,503 1,260 498 — —
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AZFRERIA T (— i)

E-2-3 73 Py =
#5 - BEAR FREH spEw(a) | omEme) |BEE MR o  SHERER
BEZR 90| 2,019 1,912 726 2.6f%| 2.7 300 |157.74|160.0
N % ot | XEEFHEBRI-2)] [ 152 I 138 10 6 1| 23.02| 7.6 300
o ] g | EXEEER 40 623 568 208 2.71%| 3.242| 300 [158.34|160.0
| SRMAHEELH 20 399 369 147 2.5f%| 2.3f%| 300 |155.22|156.3
s 150 73,041 2,849 1,081 = =
BEER 40 849 718 231 3018 2.3f&| 200 [104.76 | 106.0
N 7 2 | EEREEH 25 338 287 92 3.018| 2.5f5| 200 [104.25|106.4
£ 2 H | SRALEEEH 10 137 111 32 3.54%| 2.64% 200 [104.26 [105.2
g 751 771,324 1776 355 = =
BETR 60 912 910 304 3.07&| 3.1f&| 500
B | cmt| xiEEen@ERa-—2)] |[ 57 1 57 10 9 1| 63f%| 5.3 500
| E 1 | ErmEsn 29 415 414 138 3.0f5| 3.0f| 500 | axed
B 3HRE | SRAREETR 11 198 197 65 3.04%| 3.0f%| 500
=R g 100|525 1,527 507 = =
C 5zt | BAEH 22 168 164 54 3.0f&| 3.1f&| 500
& 1 g | CEFFHERI-2)] [ 13 1L 13 10 2 1| 6.5f%| 1501 500 ‘
3§ g | EXEEEH 14 80 79 24 3.3f% 305 500 | ARET
gamgn | SRAREETH 9 78 77 25 3148 3.2f5 500
B2 45 376 320 103 = =
C 5zt | BAEH 13 146 144 47 371 2.9f 300
5 5 | EREEEH 4 42 42 13 3218|285 300 | oo
S gpm | SRANEEPRH 4 22 22 7 3.11%| 3.0f8| 300
INET 21 210 208 67 — —
AT+A2+NT+N2+ C3+C38B+C2 5 756 | 12,896 12,017 4,506 - -
FEES 140| 1,338 1,252 520 245 2.0 350 |200.9 |201.9
A B | BESR 75 789 749 233 3.21%| 2.4 350 [208.2 [210.0
%18 25 55 348 330 152 2.24%| 2145 350 [191.0 [208.5
g 2702475 2,337 905 = -
EE2 70 711 569 234 2415 2245 300 [168.6 |159.0
A B | BEER 35 380 306 100 3.1f%| 2.04%| 300 [176.4 [158.6
52 # | KRR 25 217 167 61 2745 1945 300 [169.3 157.9
g 130]7779,308 1,042 395 = =
EEFR 60| 1,120 1,056 411 268 2.5/ 300 |190.0]202.0
N 7 2 | R 30 938 888 261 3442 3.0% 300 |202.0/211.0
%1 8| 2R 20 414 384 166 2.3f%| 2.445| 300 |183.0/195.0
i) NE 10| 2,472 2,328 838 — —
2] EE 10 296 237 55 43f5] 8.9f% 200 | 130.0|139.0
BB | N A B 6 212 182 39 475 9.6 200 |130.0|138.0
52 8 Ry 4 123 94 16 5.91%| 7.3f% 200 |127.0|134.0
gt 20 631 573 170 = =
C 5zt | BEEH 50 574 574 240 2415 3.6 500
57 BEFH 23 816 815 245 3318 3.6 500 | oo
Tupm BEEH 17 358 358 116 3118 3.2 500
INEE 90 1,748 1,747 601 — —
C % | EETH 10 64 63 22 2.9f% 3.0 500
& u| EEEH 6 37 37 12 3048 3848 500 | .
S Hpm | REFH 4 17 17 8 2118 2.9f| 500
g 20 178 117 42 - =
AT+A2ENT+N2+CG3R+ Q% 5t 640| 8,752 8,078 2,891 = =
EEFH 30 46 46 34 1415 1.9 400 | 244 | 276
BEER - BA1-2 114 93 34 2.7 2.6 350 | 233 | 224
REFH | gmo—2 58 54 21 2,645 3.9f%| 350 | 227 | 240
206 | BE - BEI-2 77 74 22 3.415| 1442 350 | 221 | 203
EEO—2R 68 63 8 7.91%| 5.7f5 350 | 229 | 230
gt 62 317 284 85 = =
EffER
BEI-2(/89) 44T 26 22 16 1415 2345 500 | 286 | 332
Baa—2(2/89) 10 2 2 2 1.04%| 1.0f%| 500 | 283 | 388
2/8-95t 28 24 18 = =
BEI-2011516)  &hkT 56 47 25 19f| 1.1 500 | 300 | 226
Baa-2(2/15116) 10 5 3 3 1.01%| 1.0f8| 500 | 322 | 370
2/15-165t 61 50 28 = =
;’I—E A g st A 20 89 74 46 — -
filr =1 1 e - BHI—R 2 2 2 1.0/&| 1.0 500 | 340 | 401
= EEHBEI-R 9 8 7 1148 1.3f2| 500 | 310 | 334
=l TSR | ELI-2X 8 8 8 1.04%5| 1.6 500 | 303 | 328
2433 |7/ a—-2 4 4 4 1.0f%| 1.048| 500 | 327 | 292
HEITEI -2 10 9 8 1045 1.142| 500 | 323 | 324
BHREEI-2 57 54 6 9.0f%| 4.5 500 | 383 | 373
s 33 90 85 35 = =
XEFR 35 123 113 38 3.0f%| 2.0 300 | 190 | 186
mABEI—X 60 57 27 2118 33f%5 400 | 226 | 271
EEISR | ERI-X 93 89 15 5.91%| 3.6 400 | 257 | 249
RT3 | BEAEHI-R 9 9 7 1315 1.3f%| 400 | 214 | 238
WmEI1-2 16 15 7 2145 4.045 400 | 225 | 300
g 43 178 170 56 = =
BaEFR 57 168 160 72 221&| 3.3f| 400 | 212 | 251
FHA VER 20 143 114 51 2215 1.9 500 | 354 | 355
Al 5 300] 1,154 1,046 417 — —
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28 - BEAR +
EEER ‘ =
T . - FZEREM(A) B1&EH(B) ?}Zﬁ/ﬁ 2331;!;% - ARERER
SR o 41 3 2 1448 mﬂi 400 mzzéﬁ S
2 BRI —2 16 9 36 2 = 4 | 229
e afs| 231
2610 | §E - BEI-2 I 12 . 340 23@) 350 | 256 | 211
- EEO— 2 . ;2 I ‘31 4345 1045 350 522 ;i;
kel o 11 % P 635 53f8 350 | 280 | 222
2 | Baa— =70
i A2 5 1? 0 (2) 455 1.0 500 | 353 | 317
Eﬁﬂ-%ﬁ:—x 0 (9) 5 - 1.0 500 | — | 433
;?é = —
AR Exey iy : ! | ow| (oS00 4T
#2406 |EF/O-2 c 3 3 g ;812 500 | 336 | 354
T — 2 5 5 4 1'3{; 1-0; 500 | 312 | 380
it BRELI -2 40 3§ 1 2:0{::z - 288 320 412
Smn 6 51 9 = 8| —
Ba— -
AP | RBO-2 i 18 ¢ 6@ 138 500 [ 330 [ 273
= 24T | BAEHI-2 3 35 10 Y Hﬁ 400 | 269 | 269
& it EHI1-2 7 17 1 Tom 188 548 228
B sl I 6 —
5 BEFH ;2) 69 61 23 23f%| 1.0f%| 400 25? 276
&R FoA VER 5 a8 41 23 =& 33
Y — 50 15 1.8%| 3378 400 | 217 | 23
— & 70| 393 342 14 3.248 1.8 500 ;
B BERR - 55 2 41 34 123 - — 370 1 299
— %ﬂ]%@f—l 48 3 6 5.7f&| 15.5/&| 300 | 212 | 242
252 | BY- BE 20 20 4 T0.8 £ 44.0 5 300
{Zs-é-ﬁia:—z 28 5 2 10.0 5 Zo'ogz 200 246 | 272
o EEIZZ L3S by ! 2708 140 300 | 244 | 227
== [REI—2 g; 197 8 31£f¥ 36.0f%| 300 214 244
N st | EAT2 [ERa-2 30 8 —
N7 ; e 4 8 ?'S{E 18.0&| 200 | 146 | 169
ST Hﬂﬂ-ﬁéﬁ:—x 22 - 2 Off| 7018 200 | 134 | 177
e — .
i EREXD A 471? 13 g 12315 11.54%] 200 | 143 | 167
XEFH 70 CAO | — 200 | 143 | —
g 6 99 6 -
BEIRR | EaREd— 92 —
e [BAEEI-2 2 78 = 7 13118 5.24% 200 [ 151 | 1
) 8eSEa 2 78 71 2 14.2 %] 15.6f&| 200 | 149 20
FHA VER 2] 101 93 : N 157
" ] 87 % 18.6 & 55.0f&| 300
ATAZINT B 300 2189 595 = 1608 260 200 | 167 | 187
A 5 o | EERABESH 105 2'125;9 Lol 596 ——
=11 Bﬁ%ﬁz%?ﬂ 88 16; 156 115 T4fE 14
INE 55 e A&l 300 | 147
5 o |BEEEEEEE 93 322 . ;22 1315 1345 300 | 145 120
m ®2 5 | EEREER 0 112 o % @ 1 i
i 68 15 145 200 | 80
B [, .| Eneemwen 0| 272 171 88 Tom| 118 00 | 86 | %
B |7 | EBHEEY ol e 201 131 .
% R 5 170 166 99 158 5.2f% 400 | 200 | 299
2 [Ch = EEREERTH 30 3590 367 330 1746|521 400 | 203 | 299
% ® M ERaEEn ol b 79 58 e B
3HME |G 50 12;1 84 62 1-4&.‘ 3.1f%| 500
C WEER ; AfE| 2.31F .
2B )G 1? gé 31 ;? 1315 2.9f& 400
AT+A2+ 11| 2018 \
-~ DEHD T 874 845 G == 53
= iiisE 20, 83 803 303 2318 23f& 300 [153.0[154.2
#8 [A+NT+N2 % 140 s 204 oz 2.7f&| 2.7f&[ 200 [108.9 110.4
= [AFR 1,959 1,852 - 375 28¢5 250 |142.2 135,
ORIETIL 701 3% 348 729 — 2 [1357
=R 359 347 1.7 1.5f% 300 [144.1[1
L ] tT 134 145 3 5 36.8
#& [A+N1+N2 3 oE 815 114 %5 2.4 1.8f% 200 |106.8]101.1
809 399 2315 2.5 200 [105.2 [108.0
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[ N =
27 - BEAR SEEK SREM(A) | AkEM(B) | DX WNEE L. AREEES
T S o . (A/B) | &R | ™™ LngE|0nEE
TR e 2 135 2115 2.44%| 300 |140.0 |160.0
REYRTLIZE 15 98 91 ;
xan Bl 2 49 1945 271§ 300 1153 1603
R [ESER] 2 262 4345 5415 300 [211.0 |216.7
EERETEN 15 148 141 :
s ! 38 3.745| 2.645| 300 [191.0 |171.3
FHICHISR 15 176 161 5
Sodsh 1 Jhée 161 40 4045 57145 300 |193.0 |200.7
T Lot : 185 2545 3.14%| 300 |159.0 | 178.7
BT TR 23 277 256 1
R T [EER] 6 134 1.91% 2.6f5 300 |138.0|164.0
MBI SR 24 226 210 :
L SR : 103 2045 3.5 300 |[151.3]197.7
EST2R 30 379 344 ;
orArs S, ! 201 1.742| 2.945 300 |133.0|172.0
BT THH 15 332 299 !
o . : 122 2.5 3.045| 300 |163.7 |171.3
SRS R T 2R 17 545 507 :
S S ’ 78 6.515 8.214%| 300 |209.7 | 220.0
WEBRLER 37 531 489 ]
e e : 192 2545 2.945| 300 |172.3 |177.3
e 22 440 402 :
ST e 5] 1 217 1.942| 3.045 300 |163.3|186.3
Rl 18 461 420 ;
Tiﬁﬂ[ﬁmﬁ] 1 98 42145 3.645 300 |200.7|197.3
s 345 5817 5.1
EATER 18] 295 384 1?% SE 22
FELAPLIFH 10 22 284 15f% 22f8 300 13251497
T ’ 89 1.445| 2.5#| 300 |130.3 |150.1
EEER 20 581 550 ]
- s S 0 123 4545 9.015| 300 [167.5|182.7
T EERETER 10 155 152 :
= F5I<NIER 10 210 108 27 4. %) 2.2% 300 |161.5|151.6
z 255 nTanrEsE) : 8 3.445| 3.9 300 |162.5|170.6
BT R 11 423 402 :
Em TR [E5E] 2 155 2645 2915 300 |151.1 |159.2
BRI TR 10 236 227 :
\ o | FBEEHIFH O8RS 7 125 1.815| 2.24%| 300 |140.3 |150.5
=1 %?Bﬁl?ﬂ 8 304 295 0
T Lt ° 145 2045 3.14%| 300 |153.8 |167.3
BRI 10 282 270 1 p
BT TR 9 583 o 56 1745 2.345| 300 |138.3 |152.3
o . : 131 2145 2.8#%| 300 |145.7 |153.6
SRIEHRI SR 10 442 421 S
T oo st ! 53 7.91% 10.55| 300 |174.0 | 182.1
WESRLER 15 343 328 :
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